
B

hex drilling screw
DIN7504 4,8x19 A2J

hex drilling screw
DIN7504 4,8x19 A2J

Verbindungslasche 90°
H101_0010

nylondowel KST 8x40
washer DIN125 5,3 A2J
lens screw DIN 7981 5,5x32 A2-70

C

 112,5° 

 1
3
5
° 

 9
0°

 

 4
3

,9
 

 6
7
,5

° 

 1
8

,2
 

8 

 4
5

 

 67,5
° 

 9
0°

 

 1
3
5
° 

 

 1
8

,2
 

 43,9 

H180_0014 02

ceiling rail

unknow

Buhlinger

Buhlinger

Weingärtner18001

Weingärtner

17.01.18

10.04.17

unknow

10.04.17

10.04.17

02

 assembly drawing 

15

B

Sheet

Abmessung: /Dimension:

C

Date

CAD  DIN

14
State

Date

F

E

13

B

16
Drw.Cust.:

D

Name

F

J

G

H

A

K

I

A

C

D

J

E

G

H

L

7 11

I

12

K

108 9

16

21

1265

43

83 14

5

11

6

1074
p

ro
h

ib
it

e
d

. 
O

ff
e

n
d

e
rs

 w
ill

 b
e

 h
e

ld
 l
ia

b
le

 f
o

r 
th

e
 p

a
y

m
e

n
t 

o
f 

d
a

m
a

g
e

s.
 A

ll 
ri
g

h
ts

 r
e

se
rv

e
d

 i
n

 t
h

e
 e

v
e

n
t 

o
f 

th
e

 g
ra

n
t 

o
f 

a
 p

a
te

n
t,

 u
ti

lit
y

 m
o

d
e

l 
o

r 
d

e
si

g
n

.

15

Name

132

Sh

9

Author

   
L

1

Scale:

DrwIndexCust.:

Mass: [kg]

S
F 

V
e

rs
io

n
: 

9
.0

Abwicklung ausgelegt für: /Unfolded sheet designed for:

Customer:

1

Solidworks 2017

Checked 3D

A1

sub.f.:

Z
u

w
id

e
rh

a
n

d
lu

n
g

e
n

 v
e

rp
fl
ic

h
te

n
 z

u
 S

c
h

a
d

e
n

e
rs

a
tz

. 
A

lle
 R

e
c

h
te

 f
ü

r 
d

e
n

 F
a

ll 
d

e
r 

P
a

te
n

t-
, 

G
e

b
ra

u
c

h
sm

u
st

e
r-

 o
d

e
r 

G
e

sc
h

m
a

c
k
sm

u
st

e
re

in
tr

a
g

u
n

g
 v

o
rb

e
h

a
lt

e
n

.

sub. by.:

139.612

x

1

1:2

Revision

Th
e

 r
e

p
ro

d
u

c
ti

o
n

, 
d

is
tr

ib
u

ti
o

n
 a

n
d

 u
ti

liz
a

ti
o

n
 o

f 
th

is
 d

o
c

u
m

e
n

t 
a

s 
w

e
ll 

a
s 

th
e

 c
o

m
m

u
n

ic
a

ti
o

n
 o

f 
it

s 
c

o
n

te
n

ts
 t

o
 o

th
e

rs
 w

it
h

o
u

t 
e

x
p

re
ss

 a
u

th
o

ri
za

ti
o

n
 i
s 

Checked 2D

W
e

it
e

rg
a

b
e

 s
o

w
ie

 V
e

rv
ie

lf
ä

lt
ig

u
n

g
 d

ie
se

s 
D

o
k
u

m
e

n
ts

, 
V

e
rw

e
rt

u
n

g
 u

n
d

 M
it

te
ilu

n
g

 s
e

in
e

s 
In

h
a

lt
s 

si
n

d
 v

e
rb

o
te

n
, 

so
w

e
it

 n
ic

h
t 

a
u

sd
rü

c
k
lic

h
 g

e
st

a
tt

e
t.

 

In
d
e
x

H101_0009 

DIN7504 4,8x19 A2J

connection plate 90°

bracket 60x30x2

connection plate 135°

bracket 60x30x2

connection plate 135°

hex drilling screw

connection plate

H101_0011 

H101_0010 H101_0010 
connection plate 90°

H101_0011

bracket 60x30x2

A

A corner bead outside corner 90°

corner bead inside corner 135°

corner bead inside corner 90°

corner bead outside corner 135°

B (1 : 1)

lens screw
DIN7985 M5x16 A2 70 H2
washer DIN 125 5,3 A2J (2x)
hex nut DIN 934 M5 A2J

C (1 : 1)

hex screw
DIN7504 4,8x19 A2J

lens screw
DIN7985 M5x16 A2 70 H2
washer DIN 125 5,3 A2J (2x)
hex nut DIN 934 M5 A2J

A-A (1 : 1)

ceiling rail

bracket 60x30x2

sealing tape
1,5x9


